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PN =3 L =
. SHIAEE ‘D5FD3£E/E jesisciem jesch sz
= 5t % WIMTE| 6AME =T EENEE
(A) (B) (C)=(A)+(B) (D)  [(E)=( C)-(D)|(E)/(D)
—fi%=3 9,313,000 711,120 (10,024,120 | 9,958,185 65,935 0.7
RFBEFR AN RS ERISRIAE 26,024 0 26,024 15,448 10,576 | 68.5
EEEREREZEIS| 2,151,796 2,800 | 2,154,596 | 2,163,855 79,259 | A0.4
B ShEERRRERISRISET 274,905 0 274,905 251,348 23,557 9.4
NMERRSEES=ET 2,735,722 9,828 | 2,745,550 2,642,148 103,402 3.9
NEREY — EXSBEFRISET 13,485 500 13,985 14,810 A825 N5.6
i E 14,514,932 724,248( 15,239,180 | 15,045,794 193,386 1.3
S NFEKEEESEt
PN == S =
. ASHAEE ﬁnﬁ{; psm | e
= & % MR TE| 6AMLE e 6FHIER
(A) (B) ( C)=(A)+(B) (D)  [(E)=( C)-(D)|(E)/(D)
U 439,030 439,030 448,691 N9,661 N2.2
INZEEIN ST
pdun] 414,153 AN4,891 409,262 424,820 A 15,558 N3.7
UL 419,509 16,942 436,451 177,411 259,040 | 146.0
AR H
podan 515,317 50,000 565,317 271,062 294,255 | 108.6
NN FE FKEEESst
A\ = Fas =
. SHIAEE T-|5H]3£E}:; jetisci etz
= 5t % WMIEMT B 6AME e 6FHER
(A) (B) (C)=(A)+(B) (D)  [(E)=( C)-(D)|(E)/(D)
PN 299,866 302 300,168 268,582 31,586 11.8
INZEEIUN T
pdun] 299,866 302 300,168 268,582 31,586 11.8
U 138,223 138,223 136,390 1,833 1.3
BEARKZH
g dun] 194,683 194,683 194,399 284 0.1
lg SM4EERETE (BE12) HASH
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. DHER - %*”ﬁfg YRR IR

e WEMTELE| 6 ARE &t e | O P

(A) (B)  [(O)=(A)+(B) (D) [(B)=(O)-(D)| (E)/(D)
1 H #7 1,349,430 0| 1,349,430 13.5| 1,378,611 N29,181 A 2.1
2 W75EE S5 169,000 0 169,000 1.7 149,000 20,000 13.4
3 FFEZfTE 4,820 0 4,820 0.0 5,020 AN200 A 4.0
4 SEANBEBRZME 5,000 0 5,000 0.0 5,000 0 0.0
5 5 HERdE 342,000 0 342,000 3.4 280,000 62,000 22.1
6 1)L JBFIBHTE 22,000 0 22,000 0.2 22,000 0 0.0
8 IRIBMHEERIR & 8,000 0 8,000 0.1 4,500 3,500 77.8
9 HhF4FFIRfTE 7,500 0 7,500 0.1 12,400 4,900 A 39.5
10 5T 4,390,000 0| 4,390,000 43.8 | 4,310,000 80,000 1.9
11 DBELZ R RIFRIZATE 2,000 0 2,000 0.0 2,000 0 0.0
12 piEE&UEEE 41,696 13,063 54,759 0.5 57,035 N2,276 A 4.0
13 FEANRUFER 125,531 0 125,531 1.3 129,477 A\ 3,946 A 3.0
14 EESZHE 812,543 256,069 | 1,068,612 10.7 | 1,014,431 54,181 5.3
15 B HE 619,681 131,667 751,348 7.5 718,235 33,113 4.6
16 BAEEIRA 21,786 N2,312 19,474 0.2 20,521 A1,047 A 5.1
17 Skt 20,000 0 20,000 0.2 20,000 0 0.0
18 ZAS 592,640 117,673 710,313 7.1 865,448 | /155,135 A 17.9
19 #&#E 200,000 0 200,000 2.0 200,000 0 0.0
20 FEUNA 104,273 160 104,433 1.0 108,507 N4,074 A 3.8
21 BH] (& 475,100 194,800 669,900 6.7 656,000 13,900 2.1
mAGET 9,313,000 711,120 10,024,120 100.0f 9,958,185 65,935 0.7
lg SHM4EEBETE (E1S) FHBPEN
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. i PHSER | e e
K WIERTSEsE| 6 BT it _— 6HMHIER
(A) (B)  [|(O)=(A)+(B) (D) |(B)=(0)-(D)| (E)/(D)
1 &S 115,605 3,108 118,713 1.2 91,510 27,203 29.7
2 HTREE 1,210,575 | ~A44,870 | 1,165,705 11.6 | 1,152,932 12,773 1.1
3 BR&&E 2,661,367 61,066 | 2,722,433 27.2 | 2,705,563 16,870 0.6
4 FEE 938,319 41,193 979,512 9.8 981,823 N2,311 N 0.2
6 EMKEZEE 492,346 210,559 702,905 7.0 678,502 24,403 3.6
7E1E 235,856 7,240 243,096 2.4 291,559 AN48,463 A 16.6
8 T K& 674,340 320,372 994,712 9.9 905,699 89,013 9.8
o JHISFE 516,135 AN320 515,815 5.1 491,525 24,290 4.9
10 858 1,047,958 112,450 | 1,160,408 11.6 | 1,234,760 | /74,352 A 6.0
11 $=EIRE 21,795 A40 21,755 0.2 21,805 A50 A 0.2
12 NMEBE 980,508 0 980,508 9.8 1,004,972 N24,464 N 2.4
13 #EXHE 388,534 362 388,896 3.9 367,204 21,692 5.9
14 FiaE 29,662 0 29,662 0.3 30,331 A669 N 2.2
AR =r-AR 9,313,000 711,120| 10,024,120 100.0 9,958,185 65,935 0.7
lg SMI4EERETE (FE12) HPEH




—iRSsTHETFE MHEREFERE
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DH4FE == 3
_ ki PHSER | e | s
RN WIEBITELE| 6AME st _— 6RHIER
(A) B)  |(O=(A)+®B) (D) |(®=(0)-(d)| (E)/(D)

1 A& 2,065,921 3,604 | 2,069,525 20.6 | 2,017,024 52,501 2.6
2 Ve 1,455,549 56,884 | 1,512,433 15.1 | 1,533,761 | ~21,328 A 1.4
3 HERFEE 59,923 0 59,923 0.6 61,799 A1,876 A 3.0
4 kBhE 759,867 0 759,867 7.6 767,025 AN7,158 A 0.9
6 WENEZS 2,072,968 44,824 | 2,117,792 21.1| 2,173,774 | /55,982 A 2.6
7 BRSNS EE 588,561 601,653 | 1,190,214 11.9( 1,097,175 93,039 8.5
8 KEEIHE 12,000 0 12,000 0.1 12,000 0 0.0
9 NEE 980,508 0 980,508 9.8 1,004,972 N24,464 N 2.4
10 f&ii& 388,534 362 388,896 3.9 367,204 21,692 5.9
11 /ERVHEESR| 179,714 ol 179,714 1.8| 191,992 | ~12,278 A 6.4
12 Ef9& 4,200 0 4,200 0.0 7,848 AN 3,648 A 46.5
13 #@HE 715,593 3,793 719,386 7.2 693,280 26,106 3.8
14 Fig& 29,662 0 29,662 0.3 30,331 /A669 N 2.2
A =111 9,313,000 711,120] 10,024,120 100.0 9,958,185 65,935 0.7
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